
M/Sir 

 

 

 

 

 

 

 

myF  : -  ePsk;  (,uz;lhtJ thuk;)  

ghlNtisfspd; vz;zpf;if  :  08 

 

 

 

 

cjh : - 5 km  I kPw;wu;fspy; (m) fhl;Lf.   

  5 km  = 5 Χ 1000 m 

 

 = 5000 m 

fPNo jug;gl;Ls;s xt;nthU ePsj;ijAk; kPw;wu;fspy; (m)  fhl;Lf. 
 

1) 6km         2) 3km 750m            

3) 2km 575m              4) 4.2km          

5) 8.95km 

 

 

 

cjh : - 4000m   I fpNyhkPw;wu;fspy; (km) fhl;Lf.  

 4000m  = 
    

     
    m 

= 4 km 

 

 

 

 

fpNyhkPw;wu;fspy; (km) jug;gl;Ls;s ePsj;ij kPw;wu;fspy; (m) fhl;Ltjw;F 

fpNyhkPw;wu;fspy; jug;gl;Ls;s ngWkhdj;ijg; 1000 ,dhy; ngUf;f Ntz;Lk;. 

kPw;wu;fspy; (m) jug;gl;Ls;s ePsj;ij fpNyhkPw;wu;fspy; (km) fhl;Ltjw;F 

kPw;wu;fspy;; jug;gl;Ls;s ngWkhdj;ijg; 1000 ,dhy; tFf;f Ntz;Lk;. 

3875m   I fpNyhkPw;wu;fspy; (km) fhl;Lf. 

 3875m  = 
3875

     
   𝑘m 

= 3.875 km 

 

khfhzf; fy;tpj; jpizf;fsk;> rgufKt – thuhe;jg; ghlrhiy 

ghlk;    : fzpjk; 

 
juk; : 6 thuk; : 26 



M/Sir 

 

fPNo jug;gl;Ls;s xt;nthU ePsj;jpw;Fk; rkkhd ngWkjpiaj; njupe;J ,izf;f.   

6000 m 5.5 km 

5500 m 6 km 

9000 m 10 km 

10000 m 4.3 km 

4300 m 9 km 

 

 ghlg;Gj;jfj;jpy; 56 Mk; gf;fj;jpYs;s gapw;rp 15.5 IAk; 57 Mk; gf;fj;jpYs;s 

gapw;rp 15.6 IAk; G+uzg;gLj;Jf. . ckf;F Vw;gLk; gpur;rpidfis Mrpupau; / 

Mrpupia cld; fye;Jiuahb jPu;j;Jf; nfhs;f. 

fPNo jug;gl;Ls;s ePsq;fisf; $l;Lf.  

cjh : -       

 

 115 cm = 1m 15cm 

 

 

 

 

 

 

 

cjh : -     cUtpd; Rw;wsitf; fhz;f.  

 

 

 

 

 

 

Rw;wsT = 4cm 3 mm + 8cm 7 mm + 7cm 5 mm + 9cm 8 mm  = 30cm 3 mm 

 ghlg;Gj;jfj;jpy; 62> 63> 64 Mk; gf;fq;fspYs;s gapw;rp 15.7 Ig; G+uzg;gLj;Jf. 

ckf;F Vw;gLk; gpur;rpidfis Mrpupau; / Mrpupia cld; fye;Jiuahb jPu;j;Jf; 
nfhs;f. 

  m   cm 

  2    75 

         +   1    40 
   4    15 

  m   cm 

  9    53 

         +   2    49 
   12    02 

  m   cm 

  8    35 

         +   2    37 

        

  m   cm 

  4    65 

         +   3    50 

        

  m   cm 

  7    18 

         +   3    95 

        

%ba jsTU xd;wpd; vy;yhg; gf;fq;fspdJk; 

ePsq;fspd; $l;Lj;njhif mjd; Rw;wsT vdg;gLk;. 

4cm 3 mm 7cm 5 mm 

8cm 7 mm 
9cm 8 mm 


